12”0837 (K12n0837)

Linearized knot diagam

AV N

\/ﬁ:‘g\x 4 12 11 9 8 4 3 1 12 8 7 5
Y,
-/

\G
59-514-52—>8—>6->12>10~>11 >3 — 7 —> C2,C6,C11
A knot diagranﬂ €4 €1 Cg €5 Ci2 C9g Cio C3 C7 Y

Solving Sequence

Ideals for irreducible component#ﬂ)f Xpar

I =(b+u, a—1, u* +2u®+2u® —u — 1)

Y= (b+u, —9u'”+40u' + - +2a+19, u!® —5u!" + ... —6u+2)

Iy = (5u —24u'® + -+ 20— 18, a— 1, u'® —5u'" 4+ — 6u+2)

I = (—1573066898u'" — 28039813504u'® + - - - 4 6554007584b — 87714720832,
— 27410850261 — 47766463570u'® + - - - 4+ 6554007584a — 96897616096,
2u'® + 36u'” + - + 288u + 64)

IY={b+u, a+1, u® =’ +u*+2u +u+1)

IV =(b+u, a+1, u* —2u®+2u? —u+1)

I = S _ut 4+ 3ud —au— 20 + b+ u, —uta+u® +uda —ut — 3uta+ 3ud + a® + 2au — 3u® —a + 2u — 3,
ub —u® 4 3ut — 203 + 20 —u + 1)

IY = (—8ut +27u™ — 390 + 7u® + 13u” + 57u® — 22205 + 307u* — 266u® + 151u? + 2b — 61u + 14,
—6utt + 170 — 190° — Tud 4+ Tu” + 49u® — 138u® + 147u* — 106u> + 47u? + 2a — 11u,
u'? — a4+ 7ut? — 4u® —u® — 6u” + 3208 — 56u° + 58u* — 40u® 4 19u? — 6u + 1)

Iy = (Tu — 23u® + 310° — u® — 1307 — 54u8 + 189u° — 242u* + 193u> — 103u? + 2b 4 36u — 6,
14utt — 48ut? 4+ 710 — 17u® — 21u” — 978 + 391w’ — 562u* + 505u® — 294u? + 2a + 115u — 23,
u'? — 4u 4+ 7ut0 — 40® — u® — 6u” + 3208 — 56u° + 58u* — 40u® 4 19u? — 6u + 1)

Iy = (b—2u, a—2, 2u® —2u+1)

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

Iy = (b+u, 2a—1, u® 4+ 2u +2)

Iy = (2b—u, a+1, u® 4 2u+2)

I = (b4u, a—1, u® 4 3u° + 5u* 4+ 4u® + 2u* +u + 1)

Iﬁ:<—u4+3u3—au—4u2+b+u, —u® +uda+ 2ut — 3ula —ud + a® + dau — 4 — a + du — 4,
ub — 3u® + 5ut — 4ud 4 4u? —u 4 1)

Iy =(b+u, —u® —v’+a—1, v +u’ +u* +u+1)

= @W?4+b+1, a+ 1, vt +u® +u? +u+1)

Ity = (u® = 30" + b+ 3u—1, v’ = 2u” + a+u+1, u* — 3u® + 4u” — 2u + 1)

* 17 irreducible components of dim¢ = 0, with total 140 representations.

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI}=(b+u,a—1, u*+2u®>+2u? —u—1)

(i) Arc colorings

o= (o)

0
ag = u
1
al == —Uu
1
a4 = u2
w4 u+1
az = \ —y3 — 242 +1
—u
ag = u? 4+ u
—ud—ut 41
ag = —uw?+u+1
u+1
a2 = —U
—ud —2u? —u
aio = wHud+u
—u?—u
a11 = \u3 +2u% -1
—ud —u? 41
asz = —u?+1
—ud—2u? —u+1
a7 = u3 + u2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6u® — 12u? — 6u+9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
€1, €2, G ut —2u® +u® +4u— 1
C6; €9, C10
C3,C4,C7 u4_2u3+2u2+u_1
Cg8,C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,€2,65 y' —2y° + 15y — 18y + 1

€6, C9, C10
C3,C4,C7 y4+6y2—5y+1

€8, C11, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u= 0.664422
a = 1.00000 —2.90924 —2.04390
b= —0.664422
u = —0.591616
a = 1.00000 1.01979 9.59200
b= 0.591616
u = —1.03640 + 1.212381
a = 1.00000 —5.6350 — 19.74591 | —0.77406 4 10.133671
b= 1.03640 — 1.212381

u = —1.03640 — 1.212381
a = 1.00000
b= 1.03640 + 1.212381

—5.6350 + 19.74591

—0.77406 — 10.133671




II. 1Y = (b+u, —9u'" 4+ 40u'® + ... + 2a + 19, u!® — 5u'" + ... — 6u + 2)

(i) Arc colorings

o= 3)

ag =
ayp =
aq =

SulT — 47q16 4. T3q 29
2 2 2
ag =

(—‘;u” + 12—3u16 coe—8u+2
10.2500u'” — 44.7500u'® + - - - + 59.2500u — 15.5000
ag = %u17 7 16+ 4+ Tu—5
_%u17+67 16+,_._ﬁu+
T ql6 11 2+3u

U
%un 20016 4+ ... 4 Qu 129>

—Uu

%u17—zu16+~~+7u—5

17 _ 49,16
4y, SuC e+ 2u 26)

9.25000u'” — 37.7500u'6 + - - - 4 47.2500u — 5.50000)

a1n =\ —Zu'" + 15010 + .- — 16u + 4
%u” — B0 4. 4190 — 16
az = \ —1ul7+2ul®+... —Bu+2
—4.75000u'7 + 21.7500u'6 + - - - — 26.7500u + 7.50000
a7 = 2U17 lo 16+“'_120u2+5u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —13u'” 4 63u'® — 165u'® + 258u'* — 297u!3 + 308u'? — 454u!t +
751ut? — 1156u° + 1416u® — 1411u” + 1045u8 — 635u® + 324u? — 212u3 + 137u? — 92u + 24



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €2, G5 u'® 4+ 5u7 4 - 290 + 11
€10
€3, c0n u'® +5u'T 4 4 Gu+ 2
C12
¢, Co 2(2u!® — 4207 + ... — 32768u + 4096)
7,8 2(2u'® — 36u'” + - -+ — 288u + 64)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €2, G5 Yy — Tyt 11Ty + 121
€10
C3,C4,C11 y18+3y17+-~-+16y+4
C12
C6, Co 4(4y™® — 48y " 4 - - - + 5242880y% + 1.67772 x 107)
C7,C8

4(4y"® — 36y 7 + - .- — 50176y + 4096)




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.117461 4 1.0557701
a = —0.197487 — 0.2265541
b= 0.117461 — 1.0557701

—0.27448 — 4.946891

—1.21757 + 8.178671

u = —0.117461 — 1.0557701
—0.197487 + 0.2265541
0.117461 + 1.0557701

b:

—0.27448 4 4.946891

—1.21757 — 8.178671

0.685691 + 0.5866811
a = —1.71323 — 0.435881
b= —0.685691 — 0.5866811

u =

—0.27448 - 4.946891

—1.21757 — 8.178671

0.685691 — 0.5866811
a = —1.71323 + 0.435881
—0.685691 + 0.5866811

u =

—0.27448 — 4.946891

—1.21757 + 8.178671

0.138696 + 0.8339611
0.96269 + 1.982341
—0.138696 — 0.8339611

—5.85311 — 8.221231

—7.71204 + 4.475301

0.138696 — 0.8339611
= 0.96269 — 1.982341
—0.138696 + 0.8339611

—5.85311 + 8.221231

—7.71204 — 4.475301

0.944753 + 0.7808991
= —0.410800 + 0.1781931
—0.944753 — 0.7808991

3.08112 — 1.343681

2.02039 + 5.009571

0.944753 — 0.7808991
—0.410800 — 0.1781931
—0.944753 + 0.7808991

3.08112 + 1.343681

2.02039 — 5.009571

0.474610 + 0.5835531
—0.06054 + 2.666961
—0.474610 — 0.5835531

—4.67654 + 10.791301

—3.31192 — 12.753421

0.474610 — 0.5835531
= —0.06054 — 2.666961

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.474610 + 0.5835531

—4.67654 — 10.791301

—3.31192 + 12.753421
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= —1.105760 + 0.7588541
= 0.702132 — 0.1347281
= 1.105760 — 0.7588541

3.08112 — 1.343681

2.02039 + 5.009571

—1.105760 — 0.758854.1
0.702132 + 0.1347281
1.105760 + 0.7588541

3.08112 + 1.343681

2.02039 — 5.009571

= —0.462479 4 0.4317031

0.462479 + 0.4317031

1.79515 + 3.218041 —2.64827 —6 — 0.557711 4+ 0.101
= 0.462479 — 0.4317031
= —0.462479 — 0.4317031
= 1.79515 — 3.218041 —2.64827 —6 — 0.557711 4+ 0.101

0.97105 + 1.121801
= —1.125730 — 0.0231801
—0.97105 — 1.121801

—4.67654 4 10.791301

—3.31192 — 12.753421

0.97105 — 1.121801
—1.125730 4+ 0.0231801
—0.97105 + 1.121801

—4.67654 — 10.791301

—3.31192 4 12.753421

0.97090 + 1.147981
—0.952181 — 0.1514131
—0.97090 — 1.147981

—5.85311 + 8.221231

—7.71204 — 4.475301

0.97090 — 1.147981
—0.952181 4 0.1514131
—0.97090 + 1.147981

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—5.85311 — 8.221231

—7.71204 + 4.475301
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III 1% = (5u’” — 24u'® + ... +2b— 18, a — 1, u'® — 5u'” 4 ... — 6u + 2)

(i) Arc colorings
1
as = 0
ag =
ay =
a4 =

ag =

ag = \ 7 — 4416 + Lu? + 3u
gu17—12u16+~-~+32§u—8>

a1z = \ =317 41201 + ... — Py +9
—ull - 4ut® 4y 3

—2u16+%u15+~-~+1—25u—5
%u”—?ulﬁ—i—---—i—?u—l

—2u17+%u16+-~—u—4
ul —4utt o 4 3u+ 1

(
(
(
(
-
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes = —13u'” + 63u'® — 165u'® + 258u'* — 297u'® + 308u'? — 454u!t +
7510t — 1156w + 1416u8 — 1411u" + 104508 — 635u® + 324u* — 212u> + 137u? — 92u + 24

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,¢10 2(2u!® — 4207 + ... — 32768u + 4096)
C2,Cs, Ce u18—|—5u17++29u—|—11
Cg
C3,Cy4,C7 u18+5u17+--~+6u—|—2
Cs
c11, €12 2(2u'® — 36u'” + - -+ — 288u + 64)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, c10 4(4y™® — 48y 4 - - - + 5242880y% + 1.67772 x 107)
€2, 65, Co Yt — Tyl 1171y 4+ 121
cy
C3,C4,C7 y18+3y17+...+16y+4
cs
€11, C12 4(4y™® — 36y7 4 - - — 50176y + 4096)

14



(vi) Complex Volumes and Cusp Shapes

Solutions to 1§ VvV—1(vol + /—1CS) Cusp shape
u = —0.117461 + 1.0557701
a = 1.00000 —0.27448 — 4.946891 | —1.21757 + 8.178671

b= —0.262386 + 0.1818891

u = —0.117461 — 1.0557701
1.00000 —0.27448 4- 4.946891 | —1.21757 — 8.178671
—0.262386 — 0.1818891

0.685691 + 0.5866811
1.00000 —0.27448 4- 4.946891 | —1.21757 — 8.178671
0.91902 + 1.304001

0.685691 — 0.5866811
1.00000 —0.27448 — 4.94689] | —1.21757 + 8.178671
0.91902 — 1.304001

0.138696 + 0.8339611
1.00000 —5.85311 — 8.221231 | —7.71204 4 4.475301
1.51967 — 1.077791

0.138696 — 0.8339611
1.00000 —5.85311 4 8.221231 | —7.71204 — 4.475301
1.51967 + 1.077791

0.944753 + 0.7808991
1.00000 3.08112 — 1.343681 2.02039 + 5.009571
0.527255 + 0.1524451

0.944753 — 0.7808991
1.00000 3.08112 4 1.343681 2.02039 — 5.009571
0.527255 — 0.1524451

0.474610 + 0.5835531
1.00000 —4.67654 4+ 10.791301 | —3.31192 — 12.753421
1.58505 — 1.230441

0.474610 — 0.5835531
1.00000 —4.67654 — 10.791301 | —3.31192 4 12.753421
1.58505 + 1.230441

> Q@ 2|l @ €|l & 8| @ €8 @ €| & €| & 8| & 8| ©
Il
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= —1.105760 + 0.7588541
= 1.00000
= 0.674150 — 0.6817921

3.08112 — 1.343681

2.02039 + 5.009571

—1.105760 — 0.7588541
1.00000
0.674150 + 0.6817921

3.08112 + 1.343681

2.02039 — 5.009571

—0.462479 4- 0.4317031
1.00000
2.21945 + 0.713311

—2.64827

—6 — 0.557711 4+ 0.101

—0.462479 — 0.4317031
1.00000
2.21945 — 0.713311

U
a
b
U
a
b
U
a
b
U
a
b

—2.64827

—6 — 0.557711 4+ 0.101

u= 0.97105+ 1.121807
a = 1.00000
1.06713 + 1.285351

—4.67654 4 10.791301

—3.31192 — 12.753421

u= 097105 —1.121807
a = 1.00000
1.06713 — 1.285351

—4.67654 — 10.791301

—3.31192 4 12.753421

u= 0.97090 + 1.147981
= 1.00000
0.75065 + 1.240091

—5.85311 + 8.221231

—7.71204 — 4.475301

u= 0.97090 — 1.147981
a = 1.00000
0.75065 — 1.240091

—5.85311 — 8.221231

—7.71204 + 4.475301

16



IV. I} =

—1.57x10%u'"—2.80x 1010416 4. ..46.55x10°0—8.77x 1010, —2.74x10%u'"—
( )

4.78 x 1010416 + ... 4+ 6.55 x 10%a2 — 9.69 x 101°, 2u1® +36u'” +- - -+ 288u+ 64)

(i) Arc colorings

= (o)
!

0.418230u7 + 7.28813u'0 + - - - + 55.0668u + 14.7845)

ag =

ay =

0.240016u'" + 4.27827u'6 + - - - + 45.4407u + 13.3834

)

0.220233u!'7 + 3.85283u' + - - - + 30.8051u + 9.08162
0.279696u'7 + 4.70292u'6 + - - - + 33.2504u + 9.26644

0.405049u!7 — 7.06890u'6 + - - - — 66.2576u — 23.6467)

ag = ( 0.221980u'" — 3.87748u'® + - - - — 33.6803u — 12.9616

ay4 =
ag =

ag = \ 0.0558069u'” + 1.04276u® + - - - + 16.3117u + 4.49774

0.178214u'" + 3.00986u6 + - - - + 9.62612u + 1.40111>

—0.0814254u!” — 1.40331u*® + - - - — 6.57667u — 8.03340)

0.240016u'” + 4.27827u'0 + - - - + 45.4407u + 13.3834

—0.0792438u'" — 1.38641u'® + - - - — 15.9005u — 4.82694
—0.103825u'7 — 1.80501u!6 + - .- — 14.6768u — 5.85821

—0.669793u'" — 11.6921u'6 + - .. — 106.612u — 38.3152
—0.305026u'7 — 5.38385u6 + - .. — 51.3580u — 20.0086

0.407230u'” + 7.09082u'6 + - - - + 65.9981u + 22.7461
0.463276u'7 + 7.95175u'6 + - .- + 61.0907u + 21.1249

—0.229775u!7 — 3.95065u!6 + - - - — 29.2608u — 14.5263
a7 = \ —0.0526146u'7 — 0.945653u'® + - - - + 3.35320u + 0.563147

(ii) Obstruction class = —1
_ _ 867904991 17 _ 7549831247 16 35978777006, _ 12280937430
(iii) Cusp Shapes = — 55555 u 400625474 W T 204812737 & T T204812737
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €6: Co u'® +5u'T + 4 29u + 11
€10
2, Ch 2(2u!® — 4207 + ... — 32768u + 4096)
cs, ¢4 2(2u'® — 36u'” + - -+ — 288u + 64)
€7, C8, 11 u'® +5u" 4 Gu+ 2
C12

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, 65 Co Yy — Tyt 11Ty + 121
€10
€2, C5 4(4y™® — 48y 4 .- - 4 5242880y + 1.67772 x 107)
€3,C4 4(4y™® — 367 4 - - - — 50176y + 4096)
C7,C8,C11 y18+3y17+---+16y+4
C12

19



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.674150 4 0.6817921
a= 1373660 + 0.2635831
b= 1.105760 — 0.7588541

3.08112 — 1.343681

2.02039 + 5.009571

u = —0.674150 — 0.6817921
a= 1.373660 — 0.2635831
b= 1.105760 + 0.7588541

3.08112 + 1.343681

2.02039 — 5.009571

u = —0.75065 + 1.240091
a = —1.024320 — 0.1628841
b= —0.97090 + 1.147981

—5.85311 — 8.221231

—7.71204 + 4.475301

u = —0.75065 — 1.240091
a = —1.024320 4 0.1628841
—0.97090 — 1.147981

—5.85311 + 8.221231

—7.71204 — 4.475301

—0.527255 4 0.1524451
—2.04878 + 0.888701
—0.944753 + 0.7808991

3.08112 + 1.343681

2.02039 — 5.009571

—0.527255 — 0.1524451
= —2.04878 — 0.888701
= —0.944753 — 0.7808991

3.08112 — 1.343681

2.02039 + 5.009571

= —0.91902 + 1.304001
= —0.548208 — 0.1394741

—0.27448 — 4.946891

—1.21757 + 8.178671

—0.91902 — 1.304001
—0.548208 + 0.1394741
—0.685691 — 0.5866811

—0.27448 - 4.946891

—1.21757 — 8.178671

—1.06713 + 1.285351
= —0.887939 — 0.0182841
= —0.97105 4 1.121801

—4.67654 — 10.791301

—3.31192 4- 12.753421

= —1.06713 — 1.285351
= —0.887939 + 0.0182841

b

U

a

b

U

a

b

U

a

b = —0.685691 + 0.5866811
U

a

b

U

a

b

U

a

b= —0.97105 — 1.121801

—4.67654 + 10.791301

—3.31192 — 12.753421
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Solutions to I}

V=1(vol + y=1C)

Cusp shape

= 0.262386 + 0.1818891
—2.18634 — 2.508131
0.117461 + 1.0557701

—0.27448 - 4.946891

—1.21757 — 8.178671

0.262386 — 0.1818897
= —2.18634 + 2.508131
= 0.117461 — 1.0557701

—0.27448 — 4.946891

—1.21757 + 8.178671

= —1.51967 + 1.077791
0.198230 — 0.4081881
= —0.138696 — 0.8339611

—5.85311 — 8.221231

—7.71204 + 4.475301

—1.51967 — 1.077791
0.198230 + 0.4081881
—0.138696 +- 0.8339611

—5.85311 + 8.221231

—7.71204 — 4.475301

—1.58505 + 1.230441
—0.008508 — 0.374766.1
—0.474610 — 0.5835531

—4.67654 + 10.791301

—3.31192 — 12.753421

—1.58505 — 1.230441
= —0.008508 + 0.374766.1
= —0.474610 + 0.5835531

—4.67654 — 10.791301

—3.31192 + 12.753421

= —2.21945 4 0.713311

>~ Q@ €| Q@ €| @& €| & €| & &> & 8| & 8| & &
Il

= 0.462479 — 0.4317031

= 0.132207 4 0.2369981 | —2.64827 0
= 0.462479 + 0.4317031

= —2.21945 — 0.713311

= 0.132207 — 0.2369981 | —2.64827 0
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V.I! =(b4+u,a+1, u® —uS+u*+2u®>+u+1)

(i) Arc colorings
1
as = O
ag =
ay =
ayg =

ag =

(
(
(
(
o (L)
(
(
(
(
(

w—ut +ud+ 202+ 1
—u® + 2ut — 3u® -2

—2u® + 3u* — 4ud —u? -2
u? —2ut +3ud +1

w? —2ut +3ud —u? 41
a7 = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® + 6u* — 12u® + 3u? — 3u — 12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C5,Coy wl — 2w —ut + 7 -2 —Tu+5
C2,Cg, C10 w4+ 2w —ut — T — 20+ Tu+5
c3,C7,C11 Wt +ut =203 —u+1
C4,C8, C12 W rurt+20+u+1
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5

Ce6,C9, C10

Y% — 6y° + 25y* — 631> + 9242 — 69y + 25

C3,C4,C7

Cg8,C11,C12

Oyt +hyt— 2 —y+1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV —1(vol + /—1CS) Cusp shape
u = 0.284920 4 0.8207911
a = —1.00000 —3.96484 —8.68367 4 0.1

b = —0.284920 — 0.8207911

u = 0.284920 — 0.8207911
a = —1.00000 —3.96484 —8.68367 4 0.1
b = —0.284920 + 0.8207911

u = —0.747005 + 0.1354991
a = —1.00000 —4.59731 4 9.427071 —1.65816 — 5.608261
b= 10.747005 — 0.1354991

u = —0.747005 — 0.1354991
a = —1.00000 —4.59731 — 9.427071 —1.65816 + 5.608261
b= 0.747005 + 0.1354991

= 0.96209 + 1.171641
= —1.00000 —4.59731 4 9.427071 —1.65816 — 5.608261
—0.96209 — 1.171641

0.96209 — 1.171641
= —1.00000 —4.59731 — 9.427071 —1.65816 + 5.608261
= —0.96209 + 1.171641

U
a
b
U
a
b
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VL I} =(b+u, a+1, u* —2u®+2u? —u+1)

(i) Arc colorings
1

as = O

ag =

ay =

ag =

az = \ —y3 4+ 202 —2u+1

(
(
(
(
= (L)
(
(
(
(
(

—uw?+u—1 )

wd—3u?+2u—1
—2u® 4+ 3u? —2u+1

w—u+1
a7 = \ud —3u?+2u—2

(ii) Obstruction class =1

(iii) Cusp Shapes = —6u? + 6u — 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C5,Cy (u? —u+1)2
C2, C6, €10 (u? +u+1)?
c3,C7,C11 w42+ 20+ u+1
C4,Cg, C12 w2+ 2 —u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs (y2+y+1)2

€6, C9, C10
C3,C4,C7 y4+2y2+3y+1

€8, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = —0.070696 + 0.7587451
a = —1.00000
b= 10.070696 — 0.7587451

—1.74699 — 3.494261

—4.15464 4 7.105041

u = —0.070696 — 0.758745]
a = —1.00000
b= 10.070696 + 0.7587451

—1.74699 + 3.494261

—4.15464 — 7.105041

u= 1.070700 + 0.7587451
a = —1.00000
b= —1.070700 — 0.7587451

5.03685 + 8.685041

7.15464 — 8.483421

uw= 1.070700 — 0.7587451
a = —1.00000
b= —1.070700 + 0.7587451

5.03685 — 8.685041

7.15464 + 8.483421
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VIL I¥ = (u® —u*+ 3u® —au —2u®* + b+ u, —u*at+u®+---—a—3, ub —
u® + 3u* — 2ud +2u? —u+1)

(i) Arc colorings

o ()

ag =

a
ap = —u5+u4—3u3+au—|—2u2—u>

aq = <
w—ut+ua+ 3t —au—2ut+a+u
uta —ub —ula + ut — 4ud + au + 3u? — 2u
—uwPa+uta —3ula+2uta—uP —au—2u—1
ag = —u4—2u2

ag =

—uba +uta + 2u® — 3ula + 2ula + 4ud — 2au + u?
w —2ut +3ud — A+ u—2

wW—ut+3ut—au—2u+a+u

—u® 4+ ut —3ud +au+2u®—u

—uPa + uta — 4ula + vt + 3ula — ud — 2au + 3u? — u)

wa—vlat+au—uP+u—1

—wlPa+u® —2ula —ut + 3ut + au — 2u + 2u—2
uta +wda+ula —ul +a
—wPa+uta—2uta+3uia—au+ta—u
wba + uta + uta — u? + au + u?

—wla+uta+ud —3uda+ut +ula+ud —au+3u—u
a7 = —uta + u® 4 uPa — 2ut + 4u® — 5u 4+ 2u — 2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —8u® — 20u® — 8u? — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cg,C9 u12+4u11_’_”.+4u+1
€10
2, C5 (u® + 3u® + Tu* + 10u® + 10u® + Tu + 3)?
3, C4 (u® + u® + 3u + 2u® + 20 +u +1)2
€7, 68, C11 u? +4utt 4 Gut1
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg,C9 y12_10y11_~_._._14y+1
€10
€2, C5 (48 + 59° + 9yt + 49 + 2% + 11y + 9)?
e3¢ (v° +5y° + 9y* + 8y° + 6y + 3y + 1)
C7,C8,C11 y12_2y11+_._+2y+1
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ VvV—1(vol + /—1CS) Cusp shape
0.616765 + 0.5803571
= 1.57092 + 0.244101 2.18727 + 7.894597 | 4.23219 — 13.000981

= 1.30393 + 0.833431

= 0.616765 + 0.5803571
= —1.79571 4 0.338421 2.18727 4 7.894591 4.23219 — 13.000981
= —0.827224 — 1.0622501

= 0.616765 — 0.5803571
= 1.57092 — 0.244101 2.18727 — 7.894591 | 4.23219 4 13.000981
= 1.30393 — 0.833431

= 0.616765 — 0.5803571
= —1.79571 — 0.338421 2.18727 — 7.894591 | 4.23219 4 13.000981
= —0.827224 + 1.0622501

= —0.291649 + 0.7575551
= —0.923318 — 0.2677321 | —3.90376 — 2.865001 | —8.91554 4 9.107021
= —1.26214 — 1.013471

—0.291649 + 0.7575551
0.60651 — 1.899571 —3.90376 — 2.865001 | —8.91554 + 9.107021
= —0.472106 + 0.6213801

—0.291649 — 0.7575551
—0.923318 4 0.2677321 | —3.90376 + 2.865001 | —8.91554 — 9.107021
= —1.26214 + 1.013471

—0.291649 — 0.7575551
0.60651 + 1.899571 —3.90376 4 2.865001 | —8.91554 — 9.107021
—0.472106 — 0.6213801

0.17488 + 1.444071
—0.077332 — 0.4389821 | —3.21831 — 0.690241 2.68334 4 10.612981
= —0.122069 + 0.5731491

= 0.17488 4 1.444071
= —0.381072 — 0.1306811 | —3.21831 — 0.690241 2.68334 4 10.612981
= —0.620396 + 0.1884431

> Q& €|l & €|l & €| Q& €| 2 €| Q@ & Q& €|l & €|l & €| & &
I
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Solutions to I¥ v —1(vol + v/—1CS) Cusp shape

= 0.17488 — 1.444071

= —0.077332 4+ 0.4389821 | —3.21831 + 0.690241 2.68334 — 10.612981
—0.122069 — 0.5731491

0.17488 — 1.444071

—0.381072 4 0.130681I | —3.21831 + 0.690241 2.68334 — 10.612981
= —0.620396 — 0.1884431

u
a
b
u
a
b
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VIIL Iy = (—8u + 274 + ... + 2b+ 14, —6u'' +17u'® 4 --- 4+ 2a —

(i) Arc colorings

11w, u'? —4u't + ... — 6u + 1)

1
as = O
0
ag = \u
ult — LT10 o AT 2 4 Ly,
a; = ( 4t —2zu10+~-~+2@u—27 )
2 2
1
a4: u2
Sul' — 44— Tu+ I
az = %u” gu10+-~-+23u—%
%ull—%u10+~-~+l6u—3
—4uM + 1600 4 - —4lu + 2
ag = \ —ull+Zul0+. ... -3y 45
—ult +5ut0 . — 250+ 7
arz = \4u't — 2Ly10 4 ... 4 Sy — 7
6u't — 24u'® + - - + 56u — 12
a0 = \ =3u!! +10u'0 4. — By +4
3ut — 11w+ 4+ Pu—6
ain = \3u!t —10u!0 + - +21u — 4
17u11—281110—1--“—1-4911—?
az = sul! + 30+ + Ju— 3§
—Sutt 4 Byl0 Ay 4 2
ar =\ 20" +7u + ... — 16u+
(ii) Obstruction class = —1

(iii) Cusp Shapes = —42u!'t + 148u!% — 218u® + 46u® + 84u” + 300uS — 1216u® +
1720u* — 1468u3 + 822u? — 320u + 70
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,10 (ub 4 3u® + Tu* + 10u® + 10u? + Tu + 3)?
C,Cs5,Cq u12_’_4u11_’_._.+4u+1
Cg
C3,Cy4,C7 u12+4u11—|—--~+6u+1
Cs
€11, C12 (uS + u® + 3ut + 203 + 20 +u +1)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, C1o (48 + 59° + 9yt + 49 + 2% + 11y + 9)?
€2,C5,Cé y2 — 10yt 4 — 14y + 1
cy
C3,Cy4,C7 y12_2y11++2y+1
cs
Ci1, C12 (y° +5y° + 9y + 8y® + 6y + 3y + 1)?
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Solutions to I§

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.472106 + 0.6213801
= —0.05564 — 2.073461
= 0.291649 + 0.7575551

—3.90376 + 2.865001

—8.91554 — 9.107021

= 0.472106 — 0.6213801
= —0.05564 + 2.073461
= 0.291649 — 0.7575551

—3.90376 — 2.865001

—8.91554 4 9.107021

= 0.827224 4 1.0622501
= —1.083450 + 0.3837841
= —0.616765 — 0.5803571

2.18727 + 7.894591

4.23219 — 13.000981

= 0.827224 — 1.0622501
= —1.083450 — 0.3837841
= —0.616765 + 0.5803571

2.18727 — 7.894591

4.23219 + 13.000981

0.620396 + 0.1884431
0.437050 + 0.7910901
= —0.17488 4 1.444071

—3.21831 4 0.690241

2.68334 — 10.612981

0.620396 — 0.1884431
= 0.437050 — 0.7910901
= —0.17488 — 1.444071

—3.21831 — 0.690241

2.68334 4 10.612981

= 0.122069 + 0.5731491
= 0.535052 — 0.9684801
= —0.17488 4 1.444071

—3.21831 4 0.690241

2.68334 — 10.612981

= 0.122069 — 0.5731491
= 0.535052 + 0.9684801
= —0.17488 — 1.444071

—3.21831 — 0.690241

2.68334 4 10.612981

= —1.30393 4 0.833431
= —0.820076 + 0.2904891
= —0.616765 4 0.5803571

2.18727 — 7.894591

4.23219 + 13.000981

= —1.30393 — 0.833431
= —0.820076 — 0.2904891
= —0.616765 — 0.5803571

> Q& €|l & €|l & €| Q& €| 2 €| Q@ &l Q@ €|l 2 €|l & €| & &
I

2.18727 + 7.894591

4.23219 — 13.000981
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Solutions to I¥ Vv—1(vol +/—1CS) Cusp shape

= 1.26214 4 1.013471

= —0.012932 — 0.4819391 | —3.90376 — 2.865001 | —8.91554 + 9.107021
0.291649 — 0.7575551

1.26214 — 1.013471

= —0.012932 + 0.4819391 | —3.90376 + 2.865001 | —8.91554 — 9.107021

U
a
b
U
a
b= 10.291649 + 0.7575551
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IX. Iy =
(Tu'l—23u'%+...4+2b—6, 14u't —48u'%+...+2a—-23, u'?—4u'l+...—6u+1)

(i) Arc colorings

o ()

0
ag = \u
7U11+24U10+"'— 1%5,“_’_ 23
a; = ;U11+23 10+ —18u—|—3
1
a4: u2
6u11+21u10—|—-~-—1—§3u—|—2§5
ag = ;u11+21 10+ .~ 13u+2
—3u11+11u10+-~-——u+10
ag = —%u11—|—129u10—|—-~-— 1,45
—5ull 4 327u10+~-~— 1§5u+ 31
ag = —u't 4+ Jul0 4. —3u+5
—%u11+2—%5u10+-- 19, + 17
12 = —%u11+73u10+ —18u+3
—%u11+4u10—|—-~ —4u +
ajg = ull—gulo+~--—5u+g
Tl 29 w0 4o 9T 212
2
a = ( 2ull — 710 1 .. +§u—% )
4u11+23 10+._._15u+4
az= \ -3 11—|—7ulo—|—---—23u—|—5
—§u11+14u10+ <o —40u + 12
a7: %ull 1 10+ _gu_'_%
(ii) Obstruction class = —1

(iii) Cusp Shapes = —42u'! + 148u'% — 218u” + 46u® 4 84u” + 300u’® — 1216u° +
1720u* — 1468u3 + 822u? — 320u + 70

40



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C5 u12+4u11_~_”.+4u+1
€10
€3,C4,C11 W4 b Gut1
C12
Ce, Co (u® + 3u® + Tut 4 10u® + 10u? + Tu + 3)?
c7,C8 (uS + u® + 3ut + 203 + 20 +u +1)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 y12_10y11_~_._._14y+1
€10
€3,C4,C11 y12—2y11+-~-+2y+1
C12
Cg, Co (v + 5y° + 9y* + 4y® + 2% + 11y + 9)?
7,08 (v + 5y + 9y + 8y + 6y% + 3y + 1)2
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

0.472106 + 0.6213801
= —0.999050 — 0.2896921 | —3.90376 + 2.865001 | —8.91554 — 9.107021
= —1.26214 + 1.013471

= 0.472106 — 0.6213801
= —0.999050 + 0.2896921 | —3.90376 — 2.865001 | —8.91554 4+ 9.107021
= —1.26214 — 1.013471

= 0.827224 4 1.0622501
= 0.621560 — 0.0965831 2.18727 4 7.894591 | 4.23219 — 13.000981
= 1.30393 + 0.833431

= 0.827224 — 1.0622501
= 0.621560 + 0.0965831 2.18727 — 7.894591 | 4.23219 4 13.000981
1.30393 — 0.833431

0.620396 + 0.1884431
—0.38922 — 2.209431 —3.21831 4 0.690241 2.68334 — 10.612981
—0.122069 — 0.5731491

0.620396 — 0.1884431
= —0.38922 4 2.209431 —3.21831 — 0.690241 2.68334 4 10.612981
= —0.122069 + 0.5731491

= 0.122069 + 0.5731491
= —2.34804 — 0.805211 —3.21831 4 0.690241 2.68334 — 10.612981
= —0.620396 — 0.1884431

= 0.122069 — 0.5731491
= —2.34804 4 0.805211 —3.21831 — 0.690241 2.68334 4 10.612981
= —0.620396 + 0.1884431

= —1.30393 4 0.833431
= —0.537783 + 0.1013511 2.18727 — 7.894591 4.23219 + 13.000981
= —0.827224 + 1.0622501

= —1.30393 — 0.833431
= —0.537783 — 0.1013511 2.18727 4 7.894591 4.23219 — 13.000981
= —0.827224 — 1.0622501

> Q& €|l & €|l & €| Q& €| 2 €| Q@ &l Q& €|l & €|l & €| & &
I
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Solutions to I

V=1(vol + v=1CS)

Cusp shape

= 1.26214 4 1.013471
= 0.152534 + 0.4777341
—0.472106 + 0.6213801

—3.90376 — 2.865001

—8.91554 + 9.107021

1.26214 — 1.013471
0.152534 — 0.4777341

U
a
b
U
a
b= —0.472106 — 0.6213801

—3.90376 + 2.865001

—8.91554 — 9.107021
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X. I = (b—2u, a — 2, 2u® —2u+1)

(i) Arc colorings

o= (o)

0
agz u
2
a1 = \2u
1
a4: u_%
1
a9 = U+%
—4u
ag = \ —3u+2
du — 5
as = \-3u—3
—2u+2
a2 = 2u
2u— 2
aip = —U
—2u —2
ain = \ —4u + 2
4u
asz = 3u—g

4y —4
ar= \-2u-—1
(ii) Obstruction class =1

(iii) Cusp Shapes = —9u
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1, Cy (u+1)?
C2 2(2u? 4 2u + 5)
€3 2(2u” 4 2u + 1)
Ca 2(2u® — 2u + 1)
& 2(2u® — 2u + 5)
€6, C10 (u—1)?
Cr,C1 u? —2u+2
Cg, C12 u? + 2u + 2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg, C9 (y_ 1)2
€10
C2,C5 4(4y* + 16y + 25)
Cc3,Cq 4(4y2 + 1)
C7,Cs, C11 y2+4
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
u = 0.500000 + 0.5000001
a= 2.00000 1.64493 + 7.327721 | —4.50000 — 4.500001

b= 1.00000 + 1.000001

u = 0.500000 — 0.5000001

a = 2.00000 1.64493 — 7.327721 | —4.50000 + 4.500001
b= 1.00000 — 1.000001
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XL I = (b+wu, 2a — 1, u® 4+ 2u + 2)

(i) Arc colorings

o= (o)

0
agz u
0.5
ayp = —u
1
a4 = \ —2u—2
—0.5
a2 = \u+2
—iu
ag = -1
iu—kl
ag = 1
u+%
a1z = —u
—iu—Q
aio =\ 2u-+3
—%u—2
ailr =\ 2u+2
Uu
az = \2

(ii) Obstruction class =1

(iii) Cusp Shapes = Ju
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs (u + 1)2
c2,C10 (u—1)?
€3,C11 u? — 2u + 2
C4,C12 U2+2U+2
6 2(2u” + 2u + 5)
¢ 2(2u” + 2u + 1)
c8 2(2u® — 2u + 1)
Co 2(2u” — 2u + 5)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs5 (y_ 1)2
€10
C3,C4,C11 y2+4
C12
C6, Cy 4(4y? + 16y + 25)
cr,cs 4(4y* +1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

u = —1.00000 + 1.000001
a = 0.500000
b= 1.00000 — 1.000001

1.64493 — 7.327721

—4.50000 + 4.500001

u = —1.00000 — 1.000001
a = 0.500000
b= 1.00000 + 1.00000

1.64493 + 7.327721

—4.50000 — 4.500001
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XII I¥% = (2b — u, a + 1, u® 4+ 2u + 2)

(i) Arc colorings
1
as = O
ag =
ayp =
aq =
ag =

ag =

(
(
(
(

S
- (u+1)
(

(
(
(

u—+ 2
a7 = \ —2u—1

(ii) Obstruction class =1

iii) Cusp Shapes = 2u
(iii) p Shap 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 2(2u? — 2u + 5)

C2,Cg (u— 1)2

cs, C7 uwr—2u+2

C4,C8 w4+ 2u+2

Cs, Cy (u+ 1)2
10 2(2u® + 2u + 5)
11 2(2u* 4 2u + 1)
12 2(2u? — 2u + 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10 4(4y* + 16y + 25)
C2,Cs, Ce (y_ 1)2
cy
C3,C4,C7 y2 +4
cs
€11, C12 4(4y* +1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I{4

V=1 (vol + y/=1CS)

Cusp shape

u = —1.00000 + 1.000001
a = —1.00000
b = —0.500000 +- 0.500000

1.64493 — 7.327721

—4.50000 + 4.500001

u = —1.00000 — 1.000001
a = —1.00000
b = —0.500000 — 0.5000001

1.64493 + 7.327721

—4.50000 — 4.500001
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XIIL I, = (b+ u, a — 1, u® 4+ 3u® + 5u* + 4u® + 2u® + u + 1)

)
- (
- (
- (
-
o ()
(
(
(
(
(

—u3—u2+1>

<
=
+
[\
IS
w
+
<
[N}

ut + 203 + 3u? 4+ 2u + 2
—ud —2ut —3ud — 22 —2u—1

—u® —2ut —3ud —u?P+1
a7 = -1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 3u® + 6u* + 6u® + 3u? + 3u + 6
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,Cs5

Ce6,C9, C10

u — 4w + Tut —TuP +6u? —3u+1

C3,C4,C7

Cg8,C11,C12

w— 3w +5ut — 4P+ 20 —u+1
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5

Ce6,C9, C10

Yo — 2% + 5y + 133 + 82 + 3y +1

C3,C4,C7

Cg8,C11,C12

O+ + 5yt 6y +3y+1
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Solutions to Ii

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + v/=1C)

Cusp shape

u = —0.917045 4 0.5923791
a = 1.00000
b= 0.917045 — 0.5923791

2.21137 — 1.583171

4.72185 + 1.106971

u = —0.917045 — 0.5923791
a = 1.00000
b= 0.917045 + 0.5923791

2.21137 4 1.583171

4.72185 — 1.106971

u = 0.258209 + 0.5691621
a = 1.00000
b = —0.258209 — 0.5691621

2.21137 — 1.583171

4.72185 + 1.106971

u = 0.258209 — 0.5691621
1.00000
b = —0.258209 + 0.5691621

a =

2.21137 4 1.583171

4.72185 — 1.106971

= 0.84116 + 1.200141

u = —0.84116 + 1.200141

a = 1.00000 —7.71260 —3.44370 4 0.1
b= 0.84116 — 1.200141

u = —0.84116 — 1.200141

a = 1.00000 —7.71260 —3.44370 4 0.1
b
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XIV. I, = (—u*+3u® —au —4u? + b+ u, —u’>+2u*+.-- —a—4, u® —
3u® + 5ut — 4u® + 4u? —u + 1)

(i) Arc colorings

o ()

ag =

a
ap = u4—3u3—|—au+4u2—u>

aq =

—ur 4+ ula+ 3wt —au—4dui+a+u )
ag =

uta —ula 4+ 2ut — 6ud +au+ 8u? —2u +1
wta — u® — 3ula + du* + dula — 8uP —au+ 8u2 —Su+1

(
(
(
(
as = ( ub —3ut +4ud —u? +u+1 )
(
(
(
(
(

2u? —u+ 2
—ut 43w —au—4u+a+u
ut =3 +au+4u? —u

2uta — 6ula + 2u* + 8u2a — 6u® — 2au + 8u? + a — 2u
—uta — 2u® + 3ula + 5ut — dua — 6ud + au+u? —a —2u

wa — 2uta + 2u® + wla — dut + 3ula + 3w —au+ 4w +2a —u+3
—uPa + 2uta — 2u® — ula + 6u? — u?a — 8ud + 3u? —a — 3u

u5a3u4a+2u5+4u3a6u4u2a+8u3+au3u2a+2u1)

—2u5a—3u5—|—-~-—2a+1)

—uPa + 3uta — 2u® — 3ula + Tut — 11uwd —au+ Tu? —3u+2
—uPa—2u® +---—a—1
ar = \ —yta+ula—2ula+u2—a—2u+2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

61



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,Cs5

Ce6,C9, C10

(u® + 5u® + 9u* + 2u® — 8u? — 3u + 3)?

C3,C4,C7

Cg8,C11,C12

(u® + 3u® + 5ut + 4u® 4 4u® 4+ u + 1)?
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5

Ce6,C9, C10

(y® — 7y® + 45y* — 1129 4 130y — 57y +9)?

C3,C4,C7

Cg8,C11,C12

(8 +1° + 9y* + 20° + 18y% + Ty + 1)?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
0.211259 + 0.8778011
= —0.689616 — 0.0781521 | —4.93480 —18.0000

= —1.36583 + 1.121971

= 0.211259 4 0.8778011
= —0.85421 — 1.761551 —4.93480 —18.0000
= 0.077086 + 0.6218561

= 0.211259 — 0.8778011
= —0.689616 + 0.0781521 | —4.93480 —18.0000
= —1.36583 — 1.121971

= 0.211259 — 0.8778011
= —0.85421 4 1.761551 —4.93480 —18.0000
= 0.077086 — 0.6218561

= —0.077086 + 0.6218561
—1.43169 — 0.162251 —4.93480 —18.0000
—1.36583 — 1.121971

—0.077086 + 0.6218561
= 1.50878 — 2.383401 —4.93480 —18.0000
= —0.211259 + 0.8778011

= —0.077086 — 0.6218561
= —1.43169 + 0.162251 —4.93480 —18.0000
= —1.36583 + 1.121971

—0.077086 — 0.6218561
1.50878 + 2.383401 —4.93480 —18.0000
—0.211259 — 0.8778011

1.36583 + 1.121971
—0.222873 — 0.459607I | —4.93480 —18.0000
0.077086 — 0.6218561

1.36583 + 1.121971
= 0.189616 + 0.2995341 | —4.93480 —18.0000
= —0.211259 + 0.8778011

> Q& €|l & €|l & €| Q& €| 8 €| Q@ | & €|l & €|l & €| & &
I
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Solutions to I Vv—1(vol + +/—1CS) Cusp shape

= 1.36583 —1.121971
= —0.222873 + 0.4596071 | —4.93480 —18.0000
0.077086 + 0.6218561

1.36583 — 1.121971
0.189616 — 0.2995341 | —4.93480 —18.0000
= —0.211259 — 0.8778011

u
a
b
u
a
b
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XV. I, =(b+u, —u*—v?’+a—-1, u*+u3>+u?+u+1)

(i) Arc colorings

o= (o)

ag =
ayp =
aq =

ag =

(
(
(

(
e (70
(

(

(

(

(

—2ud —u?—u—2
ar = —u? +u
(ii) Obstruction class =1

(iii) Cusp Shapes = Tu? + Tu® + 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €3, Cs ut —u? U —u+t1
C11
€2, C4, €10 ut +ud +u? tu+1
C12
Ce (u+1)*
¢ ut + 30 4+ 4u? + 2u+ 1
Cs ut — 3ud +4u? — 2u+1
9 (u—1)*
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
Yty
C4, C5,C10 ) Y Y Yy
C11,C12
€6, Co (y—1)*
c7,c8 vt =yt 6y +day+1
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(vi) Complex Volumes and Cusp Shapes

Solutions to Ij% VvV —1(vol + /—1CS) Cusp shape
u = 0.309017 4 0.9510571
a = —0.618034 —3.94784 —8.32624 4+ 0.1

b= —0.309017 — 0.9510571

u = 0.309017 — 0.9510571
a = —0.618034 —3.94784 —8.32624 4- 0.1
b= —0.309017 + 0.9510571

u = —0.809017 4 0.5877851
a= 1.61803 3.94784 7.32624 4+ 0.1
b= 0.809017 — 0.5877851

u = —0.809017 — 0.5877851
a= 1.61803 3.94784 7.32624 4+ 0.1
b= 0.809017 + 0.5877851
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XVL It =(u?+b+1,a+1, u* +ud +u?>+u+1)

(i) Arc colorings

o= (o)

ag =
ayp =
aq =

a9 =

(
(
(
(
o= (25)
(
(
(
(
(

—u? —u
ar = \—ud —u? -1
(ii) Obstruction class =1

(iii) Cusp Shapes = Tu? + Tu? + 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 (u—1)*
€2, ¢4, C6 ut +ut +u tut 1
Cs
€3, €5, €7 ut =t et —u+1
Co
C10 (u —+ 1)4
c11 ut +3ud + 4 4+ 2u+1
C12 ut — 3ud +4u? —2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C10 (y—1)*
C2,C3,C4
Cs,Cg,C7 y4+y3+y2+y+]—
Cg, Co
C11,C12 y4—y3+6y2+4y+1
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(vi) Complex Volumes and Cusp Shapes

Solutions to Ij% VvV —1(vol + /—1CS) Cusp shape
u = 0.309017 4 0.9510571
a = —1.00000 —3.94784 —8.32624 4+ 0.1

b= —0.190983 — 0.5877851

u = 0.309017 — 0.9510571
a = —1.00000 —3.94784 —8.32624 4- 0.1
b = —0.190983 + 0.5877851

u = —0.809017 4 0.5877851
a = —1.00000 3.94784 7.32624 4+ 0.1
b= —1.30902 + 0.951061

u = —0.809017 — 0.5877851
a = —1.00000 3.94784 7.32624 4+ 0.1
b= —1.30902 — 0.951061
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XVII.
It = (u®—3u?+b+3u—1, ud —2u*+a+u+1, u* —3ud+ 4u? — 2u+ 1)

(i) Arc colorings

o ()

ag =

—u3+2u2—u—1)

ar = \—u®+3u? —3u+1

aq =

(
(
(

" (u3+3u14u+1)

(—u +3u1—4u+2)

(

(

(

(

—uZ4+2u—2
—u? 4+ 3u? —3u+1

w—u+1
w—2ut+u—1

—u?+3u? —3u+1
a7 = w—u?+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —7u?® + 14u? — Tu — 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €75 Co ut —u? U —u+t1
C11
€2 (u+1)*
€3 ut + 30 4+ 4u? 4+ 2u+ 1
¢4 ut — 3ud 4+ 4u? — 2u+1
Cs (u—1)*
€6, C8; C10 ut et et a1
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg,C7
Yty
Cg,C9, C10 Y Y Y Yy
C11,C12
€2, C5 (y—1)*
c3, Ca vt =yt 6y +day+1

76



(vi) Complex Volumes and Cusp Shapes

Solutions to I7% V—1(vol ++/=1CS) Cusp shape

uw = 0.190983 + 0.587785]

a = —1.61803 —3.94784 —8.32624 4+ 0.1
b= —0.309017 — 0.9510571

uw=0.190983 — 0.587785]

a = —1.61803 —3.94784 —8.32624 4+ 0.1
b= —0.309017 + 0.9510571

uw=1.30902 + 0.951061

a= 0.618034 3.94784 7.32624 4+ 0.1
b= 0.809017 + 0.5877851

uw= 130902 —0.951061

a= 0.618034 3.94784 7.32624 4+ 0.1
b= 0.809017 — 0.5877851
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XVIII. u-Polynomials

Crossings u-Polynomials at each crossing
4u—D*u+ D u? —u+1)2(2u* = 2u+5)(u* — 203 + - +4u — 1)
c1, ¢s, Co c(ut —ud e =+ 1) (- 4’ Tut - e 4 6u? — 3u 1)
c(u® = 2u® —ut + Tud - 2u® — Tu+5)
~(uG+3u5+7u4+10u3+10u2+7u+3)2
(b +5u® = Bu43)H) (w4 dutt e du 4 1)?
((u'® + 5u” o+ 29u 4 11)) (2u!® — 4207 + -+ — 32768u + 4096)
4(u — D u+1D)*(u® +u+ 1)2(2u? + 2u + 5) (u* — 2u® 4+ -+ +4u — 1)
¢2, C6, €10 St ud e a4 1) (b - 4u® 4 Tut — Tud 4 6u® — 3u+ 1)
(4 20—t — Tu® — 20 4 Tu 4 5)
(u® 4 3u® + Tut + 10u® + 10u® + Tu + 3)2
(w8 +5u® - = Bu 4 3)H) (w4 dutt o du 4 1)?
((u*® 4 5utT 4 4 29u 4 11)%) (2u!® — 4207 + - — 32768u + 4096)
4(u? = 2u+2)%(2u® 4 2u + 1) (u — 2u® + 2u® +u — 1)
cs, 7, €11 (=P u? —u D) (et 20 20 w4 1) (w4 3u 4 2u 1)
(u6—3u + 5ut — 4u® + 2u% —u 4+ 1) (u® +u® +ut - 2uP —u+1)
(ub w4 3ut 4 20 4 20 4w+ 1)?
((ub + 3u® + 5ut + 4w + 4u® +u+ 1)) (w4t - 6+ 1)
(' 5ulT 4 - 6u+ 2)H) (20t — 36ul + - — 288u + 64)
4(u? + 2u + 2)? (2u —2u+1)(u* — 3u® + 4u® — 2u+ 1)
C4, 8, C12 (ut = 2u® 4 2u? —u+1)(u4—2u3+2u2+u—1)(u4+u3+u2+u+1)2

(u*

(u® = 30 + but — 4w 4 20 —u+ 1) (u® — U +ut 20 u 1)
c(u® +u® F3ut 2P 20w+ 1)2

((u +3u5+5u4+4u3—|—4u2—|—u+1)2)(u12+4u11+~-~—|—6u—|—1)2
(!t 4 5ulT 4 - 6u+ 2)D) (2ut® — 36ul + - — 288u + 64)
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XIX. Riley Polynomials

Crossings Riley Polynomials at each crossing
16(y — 1)%(y” +y + 1)?(dy” + 16y +25)(y* — 2¢y° +--- — 18y + 1)
(v +y +y +y+1)°
C1,C2,C5
(y® — Ty® + 45yt — 112y% + 130y% — 57y + 9)?
Ce6,C9, C10
Sy — 6y + 259% — 63y + 9292 — 69y + 25)
S(y® =27 + 5y +13y° + 8> + 3y + 1)
(Y8 +5y° + 9yt + 4y® + 2y + 11y 4 9)2
(" =10y 4= 1y + 1)) (Y = Ty T 4 — 1171y + 121)2
- (4y"® — 48y + .- 4 5242880y2 + 16777216)
16(y° +4)°(4y° + 1)(y4 +2y% + 3y + 1)(y* +6y° — 5y + 1)
C3,C4,C7 Syt =P+ 62 +4y+1)(y4+y3+y2+y+1)2
%85 €11, €12 97+ 5yt = 2" —y + 1)+ 17+ 5yt 4+ 6y” + 3y + 1)

(Y +5y° 3y D) (Y 2y 2y 1)°

(
(y°
(% 4+ + 9y +20y + 18y 4 Ty + 1)?
(
(Y 43y 4+ 16y + 4)2) (4y'® — 36y + - - — 50176y + 4096)
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